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And Reish Lokish is following his reasoning — 579»pu® 2 29 RTIN)

OVERVIEW

vpP% w1 maintains than when the 71wn ruled that if the animal ate in the 1"77 it is
7109, this refers even to a case where it ate 2°95 WX n103 (which is unusual and it is a
1P7 772IN), since mwnn 23 (by placing 2°221 Mo3 in the 1"71) and 73w IR X1 (by
eating them) he is 75, The X7 states that "9 said a similar 71597 regarding two
mId in the 1"70, where one was lying and the other was walking; if the n3%1n
kicked the %127 he is Mwd (for the same reason of 121 mwna 93). MOLIN explains
the necessity for 2" to mention both cases (which are seemingly the same).
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Both rulings of 5" (regarding 2°%21 mp> 775X and 77¥1272 N3YIn wvl) are
necessary; this ruling here (regarding 0°921 nM0d) is necessary (and we cannot
derive it from 7¥1272 N2 nVY2), so we should not say (that placing 0°951 M2 in

the 17"77 is usual, for) people are accustomed to put down their cloaks and rest,
therefore he was not mwn and the n92X should be 2»n, therefore it was necessary for %" to teach
us that it is unusual to place 0°921 M3 in the 1"7717 and the N2 is 77D -
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And with that ruling of mp '3, he (") teaches us that he is 217 only if the
72127 kicked the nsm», however if the na%nn was damaged by the n¥117 (it
tripped over it) he is 71w» -
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As the X273 infers later in man»77 P99; the reason the 7¥127 is 7Mwo (if the na%n
was damaged by tripping over it), is because the owner of the 7¥127 can say to the

owner of the na%mn, ‘it should have walked on the other side’ of the road and it
would not have tripped over the 7%127.

! This is the reasoning the X3 offers why 7377 " argues with 5" regarding 0721 Mo and he maintains that the 772
is 271 since it is usual to place 1"772 0°%21 Mo>.
% There is no w17 in the actual 17 of 77109 7731272 NYn TuYa for we can derive it from %931 M2 A9OK (with a w">,
for 71x127 is certainly a 771wn [and even 713 " may agree that he is Mwd]). The w17n is in the inference from the
second ruling that 2>11 n2?7n3a %127 "VY3, but not if 7¥1272 NN TPMA. Since 9" wanted to teach us the ruling of
N1 na%ma 3120 Tuva (for the inference that 7710 7p1), he also taught us that 77wD 7¥1272 N3%R VYA (even
though we can derive it from 7705 22931 M3 772X). See ‘Thinking it over’.
3 The xm3 inferred from the ruling of 5" that the 7¥127 is n2»n (only) if N3%An2 fwYa, however if the N2 tripped
over the 11¥127 it would be v, for the reason NMdOIN cites.
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SUMMARY
We could not derive the ruling of mo2 775K from M9 '3, and we would (certainly)
not know the inference that 777199 17¥1272 NOYan 7pPNA from the rule of M0 770K,

THINKING IT OVER

According to mo0In the W17°n of M 2 is only in the P17 that 7%1292 N3%IR APNN
7w.* Seemingly we could have said that the w17 is in the ruling of na%n [vya
WO n¥1272 (for even though we maintain MWD XYY MK KA TIWNT 9D),
nevertheless we could have thought (as X271 actually rules’ and argues with ")
that kicking is not excusable (as eating) and the na9an is 2n.°

* That p17 is from the ruling of n3%71a %127 AVY2, but there is (seemingly) no w17 at all according to Moo in VY2
7MVS %1212 N3YIn, which is somewhat puzzling (see footnote # 2).
> See 2,72 1P% where X2 (who agrees to the concept of 7119 12 WY AR X2 MIwnT 92) states regarding the case of
7¥1272 oY uya that he is 2°1 because we say,' 8RN T2 N7 v2 0L HY 0% XMW T2 MR 3" — you (the na%an)
have permission to walk (31) over me (the %127, since I was 71wn), but you have no permission to kick me (which
is an overt act of aggression — 77p).
% See TN WD TN # 69.
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